
Programado al 

periodo

(B)

Porcentaje del 

programado al 

periodo 
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presupuesto 

modificado 

anual

Ejercido por la 
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y ejercido
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Total. Ejercido + 

Devengado no 

pagado

(F) = D+E

Diferencia

(G) = B-F

1000 182,641,190.00 194,723,092.86 194,723,092.86      100.00% 190,905,148.61      98.04% 3,616,778.6      194,521,927.16      201,165.70           99.90% -0.10% 99.90%

2000 14,670,127.00 17,877,620.65 17,662,621.65        98.80% 14,995,932.86        84.90% -                    14,995,932.86        2,666,688.79        84.90% -15.10% 83.88%

3000 50,922,591.00 44,902,594.46 45,108,844.46        100.46% 39,965,293.54        88.60% 370,679.0         40,335,972.54        4,772,871.92        89.42% -10.58% 89.83%

4000 3,898,309.00 3,469,641.09 3,478,390.09          100.25% 1,919,641.09          55.19% -                    1,919,641.09          1,558,749.00        55.19% -44.81% 55.33%

SubTotal 252,132,217.00             260,972,949.06         260,972,949.06      100.00% 247,786,016.10      94.95% 3,987,457.55    251,773,474.64      9,420,474.40        96.47% -3.53% 96.47%

5000 0.00 0.00 0.00 0.00% 0.00 0.00% -                    -                          -                        0.00% 0.00% 0.00%

6000 0.00 0.00 0.00 0.00% 0.00 0.00% -                    -                          -                        0.00% 0.00% 0.00%

SubTotal 0.00 0.00 0.00 0.00% 0.00 0.00% -                    -                          -                        0.00% 0.00% 0.00%

Total 252,132,217.0               260,972,949.1           260,972,949.1        100.00% 247,786,016.1        94.95% 3,987,457.6      251,773,474.6        9,199,474.4          96.47% -3.53% 96.47%

Porcentaje del 

total respecto 

del modificado 

anual

(I) = F/A*100
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Cifras al cierre de cada trimestre. Porcentaje 

del total 

respecto del 
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(H) = 

F/B*100

(Menor) o 

Mayor gasto 

en relación 

con lo 

programado 

al periodo


